
 

Exercise Find upper and lower bounds
1 If a 7.23 to Z d p

7 225 E a C 7.235

2 b 46300 to 3 S f
46250 E b 46350

3 c 57 to nearest whole number
56.5 E C C 57 5

d d 46 to nearest even number
45 Ed a 47

5 e 35 to nearest 5

32.5 E e 37.5

6 f 80 to nearest co

75 E f C 85

7 g 4.32in to nearest cm

4 315in g C 4 325in

8 h 76km to nearest km
75.5km E h C 76.5km

9 x 6000 to 1 S.f
5500 E se 6500

10 y 5700 to 2 Snf

5650 E Y L 5750

Find lower and upper bounds for

D X t g



upper bound 6500 5750 12250

lower bound 55001 5650 11 I 50

2 x y

upper bound 6500 5650 850

lower bound 5500 5750 250

3 say
upper bound 6500 5750 37,375,000
lower bound 5500 5650 31,075 ooo

4 X

Y 6500 1 15
upper bound 5650
lower bound 5500 0.96

5750

Page 185 Q 8,9 10,11
upper lower

8 a 12.5cm Id p 12.55cm 12.45cm

b 11.5kg 3S.f 11.55kg 11.45kg
e l Oom Idp 1.005in O 995M

d 0.025km 25 f 0.0255km O 0245km



9 85.0 c to nearest mm

84.95cm Ex C 85.05 Cm

10 X Io Isf 4 3.5 Idp

9.5 E X C 15

3 45 E Y 3 55

a X y max 15 3.45 11.55
min 9.5 3.55 5.95

b 4 max 3.55 0.374
X 9.5

man 3 45 O 23
15

c X max 152 225
min g 52 90.25

d flite max 115 3.55 i 4 31

min i 19.5 3.45 3.60

Huk Q 11


